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-4 - (-5) = 1

4-(-1) = 5

-4 +(-9) = 13

-4+ (-2) = -6

-9 -(-9) = 0

-2 -(+1) = 3

1-(-2) = 3

-4+ (+2) = -2

1+ (-5) = -4

8- (-4) = 12 E
4-(6) - 10 S
7+ (+8) = 15

-9 -(+9) = 18 .E
1-(7) = 6 @y
2-(-2) = 0 (D)
-8 - (-2) = 6 M
9+ (-1) - 8 )
9 + (+4) =| 13 3
-1+ (+7) = 6

-9 - (-6) = 3 g
5-(-6) - 1 —
5-(H7) = -2 3
8- (-4) = 12 D
2+ (-7) = -5

3+ (+7) = 10

4 - (+6) = -2

2 +(-8) = -6

-3 -(-6) = 3

9 - (+5) =

4 + (-3) =
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[#1] (-6)x(-2) =

[#2] (2)x(+3) =

[#3] (Nx(1) =

[#4] (-12)/(-2) =

[#5] (+12)/(4) =

[#6] (-5) x (-8)

1l

[#7] (+5) / (-5)

(#8] ) x (+4) =

[#9] (-3)/(3) =

[#10] (-12)/ (+3) =

[#11] -12)/(-6) =

www.beesmart.me

[#12] -6)/(-6) =

[#13] (5)x(+9) =

[#14] () x(-4) =

[#15] +8) x (+1) =

[#16] (-4) x (+9) =

9P o
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[#10]

[#11]
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(-6) x (-2) = 12
(-2) x (+3) = -6
(-7) x (-1) = 7
(-12) " s
(-2)
(+12) _ |3
(-4)
(-5) x (-8) = 40
(+5) _
(-5)
(+7) x (+4) = 28
© 0
(-3)
(-12) —
(+3)
(-12) P
(-6)
o) -
(-6)
(-5) x (+9) = 05
(-4) x (-4) = 16
(+8) x (+1) = 8
(-4) x (+9) = -36
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#1] (-11)/ (+1) =

—

[#2] (0)/(-12) =

=ad

—0)
=0
=1

#3] (-19)/ (+1) =

#4] (0)/(+91) =

[#5] (0)/(+21) =

[#6] (0)/(-43) =

#7] (-14) / (-1) =

[#8] (0)/ (+31) =

[#9] (+3) x (+1) =

[(#10] (-2) x (+1) =

[#11] (+6) x (+1) =

www.beesmart.me

[#12] (+7)x (+1) =

[#13] (+5)/ (+1) =

(#14] (-14) / (-1) =

[#15] (0)/ (-47) =

[#16] (0)/ (-16) =

9P o
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(#4]

(#14]

WaswUUHne 29 nadnsnalull

[#15]
-11) _ I
(+1)
o [#16]
-12)
(-19) D
(+1)
(0) -
(+91)
(0) 1o
(+21)
(0) _
(-43)
(-14) "
(-1)
(0) o
(+31)
#)xH+D) = 3
(2)x(+1)= -2
(+6) x (+1) =

6
+7)xH1) = 7

(+5) 5
(+1)
49
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[#7]

[#8]

9x[(-2) +(5)]

2x[(-8)+ (1]

6 x[(-8) + (1]

S5 x[(9)+ (5]

6x[(-4)+9)]

3x[(-8)+(7)]

Bx[(1)+(6)]

S5 x[(-3)+(-3)]
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x[(-2) +(5)] = (18) + (-45) = 18-45 = -27
2x[(-8) +(1)] = (-16) + (2) = -16+2 = -14
x[(-8) +(1)] = (48) + (-6) = 48-6 = 42
x[(9)+(-5)] = (-45) + (25) = 45+25 = -20
6x[(-4)+09)] = (-24) + (54) = -24+54 = 30
x[(-8) +(7)] = (24) + (-21) = 24-21 =3
x [ (1) +(6) ] = (-3) +(-18) = -3-18 = -21
X [(-3) + (-3) ] = (15 + (15) = 15+15 = 30
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[#8]

18] + (3] ) x [|8]-(-9)1+(|-9]) =

1+ (16 x[[-8-(3)]4+(-1)=

[ 15+ (-8 ) | x[18]-(|31)1-(]-4])=

B+ (3 x[4-(|4)1+(-4)=

3] + (-1)x [ -6 - (3)1+(9) =

[[7]+ (1) [ x[-5-(]-7])]

|8+ (|-5]) [ x[]-7]-(-7)]

|7+ (-8) [ x[]:8]-(-2)1-

-(4)=

(-3)=

(6)=
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[#1] |8|+(|3\ [18]-(-9)1+(]9])= #81 |-7+(-8)[x[]-8-(-2)1-(6)=
+(3)x[8-(9+(9)= |-7+(-8)|x[B-(2]-(6)=
+(3)x(17)+(9) = |-7+(-8)[x10-6=

8+(51)+(9)= 15x10-6 =
68 150 -6 =
#2] 1+ (]6])x[]-8-(3)]+(-1)= 144

1+(6)x[B-3N+(-1)=
1+(6)x(5)+(-1)=

£(30)4(-1)=
30 E
3] 18]+ (18] | x L8] - (3)1-(|-4]) = E
15+(8)|x[8-(3)]-(4)=
|5+(8)|x5 4= E
13x5-4= U
65-4 = D
61 CD
(#4] 8+ ([3()x[4-(]4])]+(-4) = 2
8+(3)x[4 <>]+(-4>: =
8+(3)x(0)+(-4)=
8+(0)+(-4)= g
-12 :_i-
[#5] |3\+(1 [16]-(-3)1+(9)= 3
+(-1)x[6-(3)]1+(9)= CD
F(-1)x(9)+(9)=
+(-9)+(9)=
3

el |7+ ) [ x[-5-(]-7])1-(8) =
[7+(1)|x[-5-(M1-(4)=
[7+(1)|x-12-4 =
8x-12-4 =
-96 -4 =
-100
) 18+ (|5) [ x[|71-(-7)1-(-3) =
[8+(5)|x[7-(7M-(-3)=
|8+ (5)]|x14--3=
13 x14--3 =
182 -+5&
185
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[#10]

[#11]

[#12]

[#13]

[#14]

[#15]

[#16]

-10

-11

-13

10

-13

16

-18

-17

14

20

-17

-15

10

19

15

11

20

-10

11

-19

-12

19

-11

18

19

20

-10

18

-13

-13
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-8 + (-5) = -13

-1-(+7) = -8

-2-(-3) = 1

4+ (-1) = 3

5+ (+9) = 14

5-(+2) = 3

7-(+5) = 2

3 +(-5) = -2

-8-(-2) = -6

-9 -(-7) = -2 E
6 + (+6) = 12 E
-1-(+7) = -8

3-(-8) = 11 .E
-8+ (-3) = | -1 (@)
-8 - (-6) = 2 D
8+ (-6) - 14 M
7-(+4) - |3 )
6 + (+5) - | 1 3
-7 + (-6) =| -13

-2 - (-6) = 4 g
3~ (+1) -2 —
-3+ (+2) = -1 3
9 + (+3) = 12 CD
-3-(-1) = -2

-7+ (-6) = 13

3-(-6) = 9

-1-(+9) = 10

4 + (+8) = 12

6+ (+1) = 7

-7+ (+8) =
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#1] (+2) x (+5) =

[#2] +2)/ (+2) =

[#3] (-8)x (+3) =

[#4] (+4) x (+6) =

[#5] (+5) x (-5) =

[#6] (+4) / (+4) =

[#7] (+4)/ (+2) =

(#8] (+4) x (+1) =

[#9] (-4)/(+2) =

[#10] 3y E3) | =

[#11] D) x(9) =

www.beesmart.me

[#12] (-12)/ (-6) =
[#13] (-8)/(+4) =
[#14] +8)/(-8) =
[#15] () x(-3) =

[#16] (4)/(2) =

o E
AU

9P o
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[#1] (+2) x (+5) = 10
2] (+2) 1
(+2)
[#3] (-8) x (+3) = -24
[(#4] (+4) x (+6) = 24
[#5] (+5) x (-5) = -25
(+4)
[#6] = 1
(+4) E
(+4) E
#1 = |2
| (+2) E
[#8] (+4) x (+1) = 4 O
(D
[#9] b - |2 (¢)]
(+2) wm
%) 3
#10 = |-1
1#30] (+3) 2
[#11] GDx(9) = 9 —
I AR 3
(-6) (¢))
[#13] 6) = 2
(+4)
#14] (+8) _ 1
(-8)
[(#15] (-4) x (-3) = 12
we | _ 2
(-2)
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/

#1] (1) x(+1) =
[#2] (-3) x (+1) =
[#3] (-6) x (+1) =
[#4] (-18)/ (+1) =
[#5] (+3) x (+1) =
[#6] (+17)x (+1) =
[#7] (0)/(+39) =
[#8] (-17) x (+1) =
[#9] (+7)/ (+1) =
[#10] (-3) x (+1) =
[#11] (0)/(-35) =
[#12] (-11)/ (+1) =
[#13] (+18) x (+1) =
[#14] (+13)/ (+1) =
[#15] (-7)x (+1) =

(#16] (+17) x (+1) =

—

a

0
0
1
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\asuuUinia awnradnsaeluil
[#1] DxH1D) = -1
[#2] (3)x (+1) = -3
[#3] -6) x (+1) = -6
4] (-18) P
(+1)
[#5] +3)x+1) = 3
[#6] (+17)x (+1) = 17
i <(2)9> =9 é
+
[#8] 17) x (+1) = -17 E
[#9] iy o
(+1) D
[#10] (3)x(+1) = -3 D
(0) n
#11 - =
[ : (-35) 3
Q
[#12] SLEY A Y —
(+1) 3
[#13] (+18) x (+1) = 18 D
#14] (+13) 13
(+1)
[#15] NxHD) = -7
[#16] +17) x (+1) = 17
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1x[(-8)+(3)]

Tx[(2)+3)]

Tx[(4)+(7)]

Tx[(3)+(1)]

8x[(6)+ ()]

8x[(M+(9)]

1 x[(3)+(5)]

2x[(@)+(-4)]
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1x[(-8)+(3)] = (-8)+(3) = 8+3 = -5
7Tx[(2)+(3)] = (-14) + (-21) = -14-21 = -35
Tx[(-8)+ (7)1 = (-28)+(49) = -28-49 = -T7
7Tx[(3)+ ()] = 2D +(® = 21+7 = 28
8x[(6) +(7)] = (-48) + (-56) = -48-56 = -104
x [(7) +(-9) ] = (56) + (-72) = 56-72 = -16
x[(3) +(-5)] = (-3)+(5) = 3+5 = 2
x [(4) + (-4) ] = (8)+(-8) = 8-8 = |0
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[#8]

[-2+(|t])|x[6-(l6])]1-(-4)=

[-8+(-4)|x[|7]-(]-7])]-(]-2]) =

[-8| + (3)x[4-(-4)]+(]8])=

2] + C1-2]) x [1-(le]) 1+ (]2]) =

|-1+(8)|x[]8-(-3)]-(]6])=

|13+ CF7) [ x [-9-(]-2])1-(5) =

[19]+ (-9) | x[|-5]-(]3])1-(]3]) =

5]+ (18] ) x [[2]-(-7)]1+(-9) =
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1

#1124+ (1) [x[6-([6])]-(-4)= 1oL+ C-9) [x D5 - (1311 - ([3]) =

LRASLUUANTR JIHARNG +,-,* S1UIULAL

[-2+(1)|x[6-(6)]-(-4)= [9+(-9)[x[5-B3)]-(3)=
[-2+(1)]|x0--4= [9+(-9)[x2-3=
1x0--4= 0x2-3=
0--4-= 0-3=
4 -3

#2] |-8+(-4) | x[[7-C]-71)1-(]2]) = #8] -5+ (18] )x [12]-(-7)1+(-9) =
[-8+(-4)[x[7T-(N]-(2)= +(8)x[2-(M+(-9)=
[-8+(-4)|x0-2= +(8)x(9)+(-9)=
12x0-2= 54(72)+(-9)=
0-2= 68
-2

#3] |-8|+(3)x[4-(-4)1+(]8])=
8+(3)x[4-(-41+(8)=
8+(3)x(8)+(8)=

+(24)+(8)=
40
[#4] |2|+(|2|)>< (161 1+ (]2]) =
+(2)x[1-@N+(2)=
+(2)x(-5)+(2)=
2+(-10)+(2)=
-6
(#5] [-1+(8)[x[[8-(-3)1-(]-6])=
[-1+(8)|x[8-(3]-(6)=
[-1+(8)]|x11-6=
Tx11-6=
T7-6=
71

el 3]+ C|-7[) | x[-9-(]-2[)1-(5
[3+(7)|x[-9-(2]-(5)=
[3+(7)|x-11-5=
10x-11-5=
-110-5 =
-115
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